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SECTION ‘A’ - SCIENCE & ARITHMETIC

WEl X gMT /Choose the correct answer :-
10 31e T U AR T 8 e A 971 Fahed § 3 1 &1 38 e A G e & e foveret

FTefAaT i 3geTHaT §?
10 men can make a wall in 8days. How many men required to complete the same work in
half day?

(A) 80 (B) 100 (C) 120 (D) 160
Teh SR 20% 3R 5% Te T 25000% & FRget ool Ueh & 1 TledT §| 98 IHAI AFAT W
2000% & F{aT & 3T 38 25000 & 77 2T §| 33k 19 X &T=i1 T WA FAT 872
A dealer buys an article marked at Rs. 25000 with 20% and 5% off. He spends Rs 2000 on

its repair and sells it for Rs 25000. What is his gain or loss percent?
(A) 21% loss (B) 10.5%loss (C) 19.5%gain (D) 25% gain

Teh ST & 9T 1000 6.3, e &, Foraent 5 19T 9 8% o1eT W 99 ST & 3R S gU A

18% VST TN aF el THTRT 14% TS ITC T & 18% 187 9T fai<hr g% AT &2

A merchant has 1000kg of sugar, part of which he sells at 8% profit and the rest at 18%
profit. He gains 14% on the whole. The quantity sold at 18% profit is:
(A) 500kg (B) 600kg (C) 400kg (D) 640kg

28,24, 37, 42, 56, 59, 67, 28, 15, 32 TT ATET AT H

Find the mean of: 28, 24, 37, 42, 56, 59, 67, 28, 15, 32
(A) 235 (B) 388 (C) 423 (D) 71.2

FHRIOT x*-8x+15 =0 3‘71'31?{%
The roots of the equation x>-8x+15.= 0 are

(A) 2,3 (B) 3@\\ (C). 8,15 (D) 6,5
Wmmmﬁuﬁ@mmmmﬂmumaﬁﬁmmdsmuﬁt

EREEC RNl
The ratlo of Iength ch equal side and the third side of an isosceles triangle is 3:4. If the

area of the triangle i5 18v5sq units, the third side is:
(A)  8v2 units (B) 12wunits (C) 16 units (D) 5v10 units

Qrits] Y Y 78, 31 240, TS & FATR] AP HTUR A § Al $8 TR AT 5 Tt a1
T & T ferceir <fie arfge?

Shantanu’s cap is in the form of a right circular cone of base radius 7cm and height 24cm.

Find the area of the sheet required to make 5 such caps.
(A) 5000sgecm (B) 2750sgcm (C) 3000sgcm (D) 2700sqcm

cos’x+sec’ FT FIATH A ¢

The minimum value of cos®x+sec?x is:
(A) O B) 1 (C) 2 (D) 3
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CICIGES
The cost of 2 sarees and 4 shirts is Rs 16000 while 1 saree and 6 shirts cost the same. The
cost of 12 shirts is:

(A) Rs.12000 (B) Rs.24000 (C) Rs.48000 (D) None of these

K T ag F7eT forads farw kx+3y-k+3=0 31X 12x+ky=k, & 3oid g &
The value of k for which kx+3y-k+3=0 and 12x+ky=k, have infinite solutions, is:

(A) 0 (B) -6 (C) 6 O) 1
AT f¥hrel
Evaluate (2x+5) (2x-y) (4x*+y?)

A) 16X +2y" (B) 16x*-y*

(C) 20x*+y* (D) 16x"—4y"

A a? + b? =234 3N ab=108%, 2= i . T A A1 H
If a2 + b® =234 and ab = 108, find the value of;.

(A) 10 (B) 8 (C) 5 (D) < 4
AT F
Solve : 2567 + 17 x3 =7 + 180
A) 51 (B) 73 (C) 271 (D) 272
Prfafla 7 @ fF0 a A 91 & G317 761 61 ST gl &
@ Bl (@) wiRa#A @m Sifea (m AT
Which of the following can't be used to make a solar cell?
(A)  Silicon (B) Platinum (C) - Gallium (D) Germanium
eafer &1 yarerar 3R TS IR @ g
(@) m%m%g&}m@\ @) I T & IEE W)
(M) e e & @‘aw @)  SudEa sl
Loudness or intensity und depends upon —
(A) Applicatio etal wire (B) Amplitude of sound wave
(C) Area of vibreting body (D) All the above
degeT HTAA FT S ATHH JGIN
(@)  dlee (V) (@ TR (A) (@) FHed (&) &F (T) |
The Sl unit of electric charge is *
(A) Volts (V) (B) Ampere (A) (C) Coulomb (C) (D) Tesla (T) 4
SFREE Y GeATeT 3 Feclet o T SrlleT R ATy aelT Terails &
(F) EAE @) A" () sEed (@) P
The enzyme used in the conversion of fructose into ethanol is: r
(A) Zymase (B) Invertase (C) Diastase (D) Fructose '
ST W T HT AT eI g ?
Which of the following is a measure of velocity?
(A) 30s (B) 30 South (C) 30m/s (D) 30 m/s, South
4
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A Screl, ST I T g% &, P ol W feamrar S &1 Afe e 7t v sqorredt He
ST, T bl T dargHTT
(F) dErEem (@) g () UEA AT (°) &g w6l Hehd

A thermos bottle containing coffee is vigorously shaken. If the coffee is considered as a
system, then the temperature of coffee will:

(A) Increase (B) Decrease (C) Remain (D) Can'tsay
slightly same
TEAT G & TR I TREAAT e § Fifn gl AGH R GhifSad aaf sterclt § | 7 gt
TGHT T PIS P ALl B
(/) =Tl @ g welwel (@) gl g (&) & G Fehd
The moon revolves around the Earth because the earth exerts a radial force on the moon.
Does Earth perform work on the Moon?

(A) No (B) Yes, (C) Yes, (D) Can't say
sometimes always

gl & TEcarhyoT o & Aqfid R A qoa arel v arg @I HRI A B

(@) wRaafld (@ RRIT @) e @ wRgafa

CIGIEIG]

An object moving in (upward) direction opposite to the gravitational force of earth performs:
(A) Accelerated motion (B) Motion with constant velocity
(C) Oscillations (D) Retarded motion
g #1 6 W T e gIaT:

(@) GEF Feg (@) FFd ¥ & TR go

@) 3Teprr () EYO7 FFd A
The weight of the body would not be zero at:

(A) Earth’'s (B) During free (C) . Space (D) Frictionless surface

Centre fall &

) 10‘93ﬁazﬁﬁwm%‘é§w#sa%mm, oY 38 WX faggd 3maer g (Felte):

When 10"electrons are rq,ggwed from a neutral metal plate, the electric charge on it is

(coulomb): Q
(A) 10*" @\ +1.6 (C) -1.6 (D) 10(g4/q2)
$
T FAER §
(F) g anT (@) seffeh gler
(@M &I ORT (=) Xf3ar fafenvor &1 erfeaeme |
A quasar is:
(A) Neutron star (B) Black hole
(C) White dwarf (D) Powerful source of radio radiations
IRA T I, 3 T 37 97 S &1 59 9fshar F1 Fgd &
(F) FtAUder (@) arsdEor () faawor () HYAA

On heating, solid is directly converted into gaseous state. This process is called:
(A) Sublimation (B) Evaporation (C) Diffusion (D) Condensation
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SECTION ‘B’ - GENERAL AWARENESS

Wﬁ SisEd gﬁq IChoose the correct answer :-

ey 937 I FloT AT § ?

(&) AH (@) Hrel @m T (€) SEEdid
Which is the biggest planet?

(A) Venus (B) Mars (C) Mercury (D) Jupiter
FIAG el H fehdehT Tait gl A?

(®) 3= (@) fasog @ & (@) B
Who was mainly worshipped in the Rig Veda period?

(A) Indra (B) Vishnu (C) Sun (D) Trimurti
TR T FIeIcro UfAETa Tel, S 7T ereiecy & Secrg # ¢, feeqaaar @1
AT g

() fasor @) g (3T) FToter @) &

The greatest monument at Ellora, dating from the late 7" centuary, henours the Hindu God:

(A) Vishnu (B) Shiva (C) Ganesh (D) Krishna

Wr@amwwaﬁaﬁaﬁﬁgmw

In which year was the Indian National Congress formed?

(A) 1835 (B) 1885 (C) 1901 (D) 1875
TSERT JSTATI 75T 4 &I s gl
(F) HISATR Q& 2 Hae-dovTs
(@) ATR-YETETE S (&1) STAR-HAET
National Highway No. 4 co ts:
(A)  Mumbai-Nagpur oy (B) Mumbai-Chennai
(C) Nagpur-Hyder (D) Bangalore-Mysore
Q
AR 1 7y e aferd ¢ (SFhet Fd1eT) & & "o AT
(%) HIZ- {IT (@) rEs-Red
(M) e o (@) F-fee-aeTs
The first electric train‘of India (Deccan Queen) was run between:
(A) Mumbai- (B) Howrah- (C) Kalyan- (D) New Delhi-
Surat Delhi Pune Chennai
AfcaaT JrehTeT & HTATerd Hel &7
() A (@ dAEEE @n o (@) Serdedr
The headquarters of Lalit Kala Academy are at:
(A) NewDelhi (B) Chandigarh (C) Pune (D) Kolkata
6
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(®) gsoar (@) SforEen @M g (@) 3IMFARR
Which of the following Indus Valley sites is in Pakistan?
(A) Harappa (B) Kalibagan (C) Lothal (D) Alamghir

Wm%%ﬂvﬁﬁﬁﬁﬁﬁfmﬁ%wmé?
() sfawar (@) godledi® () WU () AN

The violent uprising of Palestinians against the Israeli occupation is called:
(A) Intifada (B) Hezbollah (C) PLO (D) Hamas

H US &5 8’ #A1HS T fohae fordr?
(F) ST (@) FFATS () GATTEER (8)  FeTH T RIg ALl

Who wrote the book titled ‘Runs and Ruins’?

(A) Kapil Dev (B) ImranKhan (C) Sunil (D) None of these
Gavaskar
fr e F AE AN B

(@ e (@) ggie= @M SHfcaga CIIREHIGERS
Lack of causes diabetes.

(A) Sugar (B) Insulin (C) Calcium (D) Vitamins
oig 31T [AgTSS U=l & a1 | yRg o gl

(@) ST (@) wET @m &g (8) 3SFATH
The country known as the ‘Land of the midnight sun’.

(A) Japan (B) Sweden (C) Norway (D) Denmark
g g fr @ @ FiT T B

@ FAMEN @ TR @ FER (@) T
The discovery of inert gases \'a%sociated with:

(A) JB Priestly (B) osier (C) Cavendish (D) Ramsay
e faegd seN A arell dca ¥ ST B Bl

@ fawm @) zared @ a& (7)) T
The heater element in an-electric iron is made of:

(A) Nichrome (B) Tungsten (C) Copper (D) Iron
HTOTX T ASTETAN 47 82

() TRrarar @ EFE @m e (&) aifgaT
Capital of Manipur is:

(A) Shillong (B) Imphal (C) Gangtok (D) Kohima
33A 3R AR gfag i TeruEh F1r g?

(&) Eadis @ SAEg (A 9 s = g

The capital of Andaman and Nicobar Islands is:
(A) Havlock (B) Jollyboy (C) Port blair (D) Ross
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FAO & 3T Arcad g7
(F) s Us Tfihen ATefArgarere (@) ThCH US WAl EfATSSier
(@) e, WEidme U A (8)  ¥heH, Ul s AT
FAQO stands for:
(A) Food and Agriculture (B) Fruits and Agro Organisation
Organisation
(C)  Fruit, Agriculture and Ocean (D) Fruits, Agro and Ocean

dataier Aref  Reafaf@a F @ g 83 & 39e vgge 998?

() difeET (@ St (@) AEveRafEr @) g
In which of the following fields did Tenzing Norgay distinguish himself?

(A) Boxing (B) Cycling (C) Mountaineering (D) Hockey
fArAT T # @ 658 FIgR & A1 ¥ ST ST 82

&) Terfea @ dfaa @M e @ S

Who among the following is known as ‘Fuehrer’?
(A) Stalin (B) Lenin (C) Hitler (D) Bismarck

HR T HH T 3N R IR 0 T3/ 819 7 §7
(@) FYIT (@) FeR¥U (1) uRgFdme (@) 7% e

The largest and the oldest museum of India is located in the state/union territory of:

(A) Andhra (B) Uttar (C) West (D) New Delhi
Pradesh Pradesh Bengal
T €T ARAT AGIHIT i ATE?

(F) HEETfar (@) AT @M Maafass (@) HeHRd

The lengthiest classical epic is:

(A) Bhagwat (B) Ramayan (C) Gita (D) Mahabharat
Gita Govinda

5T @ forg O 34T ug Hafeua & Q@

() arer (@) @T)) I (@) gsals
The term ‘Derby’ is related ich of the following:

(A) Polo (B)oSSwimming (C) Racing (D) Horse riding
e 4181 s er 9 ot & 7

() STEheaTeT (@) TR (31) @) Tw
With which game is Geet Sethi associated?

(A) Basketball . (B) Chess (C) Snooker (D) Tennis
AATST A TUH ARAIRT il ¢ Toegiet IaUSE 378 ATESY 3UITEY 21fdier

() AT (@) ST @1 Regare (T S gaE

KIEDETy [ERIC] Hleig,

Who is the first Indian to win the “International Grand Master” title in Chess?
(A) Anupama (B) Bhagyashree (C) Vishwanathan (D) DV Prasad

Abhayankar Tripathy Anand
ATl T WA FleT § FRAT T d A 3G g
() AOR (@) TSTEIH (M) ISR (&) 9fegs gamer
In which Indian State did the game of Polo originate in?
(A) Manipu'r (B) Rajasthan (C) Guijarat (D) West Bengal
8
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